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Chapter1.5:23 Ans: lim
x→−2

x2 − x− 6

x2 + 3x + 2
= lim

x→−2

(x− 3)(x + 2)

(x + 2)(x + 1)
= lim

x→−2

x− 3

x + 1
=
−5

−1
= 5

Chapter1.5:25 Ans: lim
x→4

√
x− 2

x− 4
= lim

x→4

√
x− 2

(
√
x− 2)(

√
x + 2)

= lim
x→4

1√
x + 2

=
1√

4 + 2
=

1

4

Chapter1.5:59 Ans:

a. C(0) = 0.4 + 0.013 = 0.413 mg/ml

b. C(5) − C(4) = 0.4
51.2+1 −

0.4
41.2+1 ≈ −0.013. Therefore the concentration decreases by about

0.013 mg/ml.

c. lim
t→∞

C(t) = 0.013. Therefore the residual concentration is 0.013 mg/ml.

Chapter1.6:27 Ans: By definition f(3) = 10. And

lim
x→3−

f(x) = 10 lim
x→3+

f(x) = 10

=⇒ limx→3 f(x) = 10 = f(3).Therefore f(x) is continuous at x = 3.

Chapter1.6:57 Ans:By the definition f(2) = 9 and limx→2− f(x) = 2A− 3 = f(2) since f is continuous at x = 2.

=⇒ A = 6

1 Ans: lim
x→+∞

ex − 2

e2x − 4
= lim

x→+∞

ex−2
e2x

e2x−4
e2x

= lim
x→+∞

1
ex −

2
e2x

1− 4
e2x

=
0 + 0

1− 0
= 0

2 Ans:

(a) By definition, f(0) = 0

(b) lim
x→0−

f(x) = lim
x→0−

1 = 1

lim
x→0+

f(x) = lim
x→0+

e2x = 1

Since lim
x→0−

f(x) = 1 = lim
x→0+

f(x), we have lim
x→0

f(x) = 1

(c) Since lim
x→0

f(x) = 1 6= f(0), f(x) is not continuous at x = 0.
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